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•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–II ds bl iz'u-i= esa eqfnzr i`"B 8 rFkk iz'u 40 gSaA 

 Please make sure that the printed pages in this question paper of Part-II are 8 in 

number and it contains 40 questions. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

    (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

        All questions are compulsory.    
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    (ii) iz'u Øekad 1 ls 40 rd oLrqfu"B ¼cgqfodYih;/fjDr LFkku dh iwfrZ/lgh-xyr½ iz'u gSaA izR;sd 
iz'u 1 vad dk gSA lghlghlghlgh mÙkj viuh mÙkj&iqfLrdk eas fyf[k,A 

        Questions from 1 to 40 are objective (Multiple choice/fill in the blanks/true-

false) type questions. Each question is of 1 mark. Write correct answer in 

your answer-book. 

fuEufyf[kr cgqfodYih; iz'uksa ds lghlghlghlgh fodYi pqfu;s % 
Choose the correct alternatives of the following multiple choice type questions : 

1. ^vFkZ'kkL= ds fl)kUr* (Principles of Economics) ds ys[kd gSa % 1 
(A) ekYFkl (B) ek'kZy 
(C) ,Me fLEkFk (D) lSE;qvYlu 
Writer of 'Principles of Economics' is :  

(A) Malthus (B) Marshall 

(C) Adam Smith (D) Samuelson 

2. dher fl)kUr dk nwljk uke D;k gS \ 1 
(A) O;f"V vFkZ'kkL= (B) lef"V vFkZ'kkL= 
(C) lkoZtfud foÙk (D) dher fu;U=.k 
The Price Theory is known as : 

(A) Microeconomics (B) Macroeconomics 

(C) Public Finance (D) Price control 

3. ek¡x dk fl)kUr ykxw gksrk gS % 1 
(A) lkekU; oLrqvksa ij (B) fx¶Qu oLrqvksa ij 
(C) izfr"Bk lwpd oLrqvksa ij (D) bu lHkh oLrqvksa ij 
The law of demand applies to : 

(A) Normal goods (B) Giffen goods 

(C) Articles of distinction (D) All of the above 

4. ek¡x dh yksp D;k gksxh] tc ek¡x oØ Y-v{k ds lekukUrj gksxk % 1 
(A) bdkbZ  (B) 'kwU; 
(C) bdkbZ ls de (D) bdkbZ ls vf/kd 
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When demand curve is parallel to OY-axis, then price elasticity of demand is : 

(A) Unity (B) Zero 

(C) Less than unity (D) More than unity 

5. tc vkSlr mRiknu c<+rk gS] rc lhekUr mRiknu % 1 

(A) vkSlr mRiknu ds cjkcj gksrk gS (B) vkSlr mRiknu ls vf/kd gksrk gS 

(C) vkSlr mRiknu ls de gksrk gS (D) 'kwU; gksrk gS 

When average production increases, marginal product is : 

(A) equal to average production (B) more than average production 

(C) less than average production (D) zero 

6. tc ,d izfr;ksxh oLrq dh dher fxjrh gS] rc bldh iwfrZ % 1 

(A) esa dksbZ ifjorZu ugha gksrk (B) ?kVrh gS 

(C) c<+rh gS (D) buesa ls dksbZ ugha 

When the price of competitive good falls, its supply : 

(A) does not change (B) falls 

(C) increases (D) none of these 

7. fuEufyf[kr fLFkfr;ksa esa fdlesa MR _.kkRed gks ldrh gS \ 1 

(A) tc AR c<+ jgh gks (B) tc AR ?kV jgh gks 

(C) tc AR fLFkj gks (D) mijksDr lHkh fLFkfr;ksa esa  

Under which of the following conditions MR can be negative ? 

(A) When AR is increasing (B) When AR is decreasing 

(C) When AR is constant (D) In all the above conditions 

8. fo'o egkeUnh dk o"kZ gS % 1 
(A) 1927 (B) 1929 
(C) 1931 (D) 1936 
The year of World's Great Depression is : 

(A) 1927 (B) 1929 
(C) 1931 (D) 1936 
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9. cktkj dher vkSj lk/ku ykxr dh /kkj.kk ds e/; eq[; vUrj gksrk gS % 1 
(A) izR;{k dj (B) vizR;{k dj 
(C) vkfFkZd lgk;rk (D) 'kq) vizR;{k dj 
The basic difference between the concepts of market price and factor cost  is : 

(A) direct taxes (B) indirect taxes 

(C) subsidiaries (D) net indirect taxes 

10. ,d O;kikfjd cSad og cSad gS % 1 
(A) tks nh?kZdkyhu _.k nsrk gS (B) tks lk[k dk fuekZ.k djrk gS 
(C) tks vYidkyhu _.k nsrk gS (D) mijksDr lHkh 
A commercial bank is bank that : 

(A) gives long term loans (B) creates credit 

(C) gives short term loans (D) All of the above 

11. vfriw.kZ jkstxkj lUrqyu dh voLFkk esa % 1 
(A) dsoy dhersa c<+rh gSa  

(B) oLrqvksa vkSj lsokvksa ds izokg esa dksbZ Hkh o`f) ugha gksrh gS 
(C) dqy ek¡x vko';d iw.kZ jkstxkj ls vf/kd gksrh gS 
(D) mijksDr lHkh 
In a situation of over full employment equilibrium : 

(A) prices alone rise  

(B) there is no increase in flow of goods and services 

(C) aggregate demand is more than necessary full employment 

(D) All of the above 

12. ;fn MPC = 1 gS] rks xq.kd gksxk % 1 
(A) 'kwU;  (B) ,d 
(C) nks  (D) vuUr 
If MPC = 1, then multiplier will be : 

(A) Zero  (B) One 

(C) Two  (D) Infinity 
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13. izxfr'khy djk/kku dk mís'; gS % 1 
(A) R;kx dk leku forj.k (B) djksa esa o`f) 
(C) gkfudkjd miHkksx ij izfrcU/k (D) buesa ls dksbZ ugha 
The objective of progressive taxation is : 

(A) equitable distribution of sacrifice  

(B) addition to taxes 

(C) restriction on harmful consumption  

(D) none of these 

14. fuEufyf[kr eas ls fdldks O;kikj lUrqyu ¼'ks"k½ esa 'kkfey ughaughaughaugha  fd;k tkrk \ 1 
(A) lsokvksa dk vk;kr&fu;kZr  

(B) lHkh ns'kksa ds e/; ykHkka'k vkSj C;kt dk Hkqxrku 
(C) lSykfu;ksa }kjk fd;k x;k [kpZ  

(D) mijksDr lHkh 
Which of the following is not included in balance of trade ? 

(A) Import-export of services 

(B) Payment of interest and dividend among all countries 

(C) Expenditure by tourists 

(D) All of the above 

mfpr 'kCnksamfpr 'kCnksamfpr 'kCnksamfpr 'kCnksa    ls ls ls ls fjDr LFkku Hkjsa %fjDr LFkku Hkjsa %fjDr LFkku Hkjsa %fjDr LFkku Hkjsa % 

Fill in the blanks with appropriate words : 

15. ;fn isVªksy dh dher c<+ tk, rks dkjksa dh ek¡x  esa ……………. gksxhA  ¼ladqpu] fxjkoV½  1 

If the price of petrol goes up demand of cars will be …………. .  (contract, fall) 

16. ;fn dher esa ifjorZu gksus ls dqy O;; esa dksbZ ifjorZu uk gks] rks ek¡x ………………... ykspnkj 
gksrh gSA    ¼bdkbZ] bdkbZ ls de½  1 

Elasticity of demand is  ………….. if change in price does not result in any 

change in total expenditure.     (unitary, less than unitary) 
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17. cU/kh ykxr vkSj ifjorZu'khy ykxr ds e/; ………… esa vUrj ik;k tkrk gSA  ¼vYidky] nh?kZdky½ 1 

Difference between fixed cost and variable cost is found in …………… . 

(short-period, long period) 

18. dher foHksn ……………. esa lEHko gSA       ¼,dkf/kdkj] iw.kZ izfr;ksfxrk½ 1 

Price discrimination is possible under ……………. .  

(monopoly, perfect competition) 

19. ……………. dh leL;k lef"V vFkZ'kkL= dk mnkgj.k gSA    ¼csjkstxkjh] QeZ dk dher Lrj½  1 

Problem of …………… is the example of macroeconomic studies. 

(unemployment, price level of the firm) 

20. nksgjh x.kuk ls cpus ds fy, ………………..  oLrqvksa ds ewY; dh x.kuk dh tkrh gSA 1 

¼vfUre] e/;orhZ½ 

To avoid double counting, value of …………… goods is taken into account. 

(final, intermediary) 

21. eqnzk dh eq[; fo'ks"krk ……………. gksrh gSA  ¼rjyrk] n`<+rk½  1 

Main characteristic of money is ……………. .   (liquidity, solidness) 

22. tek Lohdkj djuk O;kikfjd cSadksa dk …………… dk;Z gSA   ¼izkFkfed] f}rh;d½  1 

Accepting deposits is the …………. function of commercial banks.   

(primary, secondary) 

23. jkstxkj ds ijEijkoknh fl)kUr ds vuqlkj ……………. ,d lkekU; voLFkk gSA  1 

  (viw.kZ jkstxkj lUrqyu] iw.kZ jkstxkj lUrqyu) 

According to classical theory of employment …………. is a normal situation.  

(less than full employment, full employment) 

24. xq.kd dk ewY; = …………… .   








− MPCMPC

1
,

1

1   1 

Value of multiplier = ……………. .     








− MPCMPC

1
,

1

1
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25. dqy [kpZ > dqy izkfIr;k¡ = …………….   ¼vkf/kD; ctV] ?kkVs dk ctV½  1 

Total expenditure > Total receipts = ……………. . 

 (surplus budget, deficit budget) 

26. O;kikj lUrqyu esa dsoy ------------ ensa 'kkfey gSaA  ¼n`';] vn`';½  1 

Balance of trade includes only ………….. items.  (visible, invisible) 

fuEufyf[kr dFku lghlghlghlgh gSa ;k xyrxyrxyrxyr] crkb, % 

State whether the following statements are true or false : 

27. LFkkukiUu oLrq dh dher esa o`f) ek¡x esa o`f) dk dkj.k gksrh gSA  1 

Rise in price of substitute goods is the cause of increase in demand. 

28. tc ek¡x iw.kZr;k ykspnkj gksrh gS] rks yksp dk xq.kkad 'kwU; gksrk gSA 1 

Co-efficient of elasticity is zero, when demand is perfectly elastic. 

29. vYidky esa mRiknd dks gkfu ugha gks ldrhA 1 

A producer cannot suffer loss in short period.  

30. iw.kZ izfr;ksxh cktkj esa foØ; ykxrsa ikbZ tkrh gSaA  1 

Selling costs occur under perfectly competitive market. 

31. O;f"V vFkZ'kkL= rFkk lef"V vFkZ'kkL= esa dksbZ lEcU/k ugha gSA  1 

There is no relationship between micro-economics and macro-economics. 

32. iz;ksT; vk; dks cpr rFkk fuos'k esa ck¡Vk tkrk gSA  1 

Disposable income is divided between savings and investment. 

33. yxku] C;kt rFkk ykHk ds ;ksx dks izpkyu vf/k'ks"k dgrs gSaA  1 

Aggregate of rent, interest and profit is called operating surplus. 
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34. vkfFkZd fLFkjrk dh izkfIr ljdkjh ctV dk mís'; gSA  1 

The objective of government budget is to achieve the state of economic 

stability. 

35. ^dj* ,d dkuwuh Hkqxrku gSA 1 

'Tax' is a legal payment. 

36. O;kikj lUrqyu rc vuqdwy gksrk gS] tc fu;kZrsa] vk;krksa ls vf/kd gksrh gSaA 1 

Balance of trade is favourable when exports exceed imports. 

37. vk;dj ,d izR;{k dj gSA 1 

Income tax is a direct tax. 

38. xq.kd] fuos'k esa gksus okys ifjorZuksa ds QyLo:i vk; esa gksus okys ifjorZu dk vuqikr gSA 1 

The multiplier is the ratio of change in income due to change in investment. 

39. dqy ek¡x rFkk dqy iwfrZ dh lekurk dh voLFkk esa Hkh csjkstxkjh lEHko gSA 1 

Unemployment is possible even when aggregate demand is equal to aggregate 

supply. 

40. Hkkjr esa dsUnzh; cSad] Hkkjrh; fjt+oZ cSad gSA 1 

In India, the Central Bank is Reserve Bank of India. 

S 


